
 

 

Choose the word or phrase which best completes each sentence from 1 to 10. Mark ONE 
letter A, B, C or D. 

 

1. Roger’s manager insisted to make him stay if he .................. the work. 

 A hadn’t finished  B didn’t finish    C had finished 

2. They spent a lot of time .................. at the pictures in the museum. 

 A looking   B for looking    C to look   

3. By the time he has finished his week’s work, John has hardly ……………… energy left 

 for the weekend.   

 A any  B much    C no  

4. The new company ………………. for the needs of customers with a variety of good  

 services. 

  A supplies   B furnishes   C caters  

5. Would it .................... you if we came on Thursday?  

 A suit   B like    C Fit 

6. This form .................... be handed in until the end of the week.  

 A doesn’t need   B doesn’t have    C needn’t   

7. The newspaper report contained .................... important information.  

 A many   B an    C a lot of  

8. It can be a good idea for people who lead an active life to increase their .................... of 

 vitamins.  

 A upturn   B input    C intake 

9. James was not sure exactly where his best interests ..................... .  

 A stood   B rested    C lay  

10. He’s still getting .................... the shock of losing his job.  

 A across   B over   C through  


